Answers:

Question 1:
Ans:

2sinx =cosx
tanx=10.5

x=26.6, 180 + 26.6
x=26.6°, 206.6°

Question 2:
Ans:
tan x = 3

x=53.1, 180+ 53.1
x=53.1° 233.1°

Question 3:

Ans:

]l —sin®x+3sinx-3=0
sincx—3sinx+2=0

(sinx—1)sinx-2)=10

sinx =1 or 2 [no solutions]

x=90°
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Question 4:

Ans:

3cos’ x— (1 —cos’x)=2
4cos’x=3

Cosx= i%

x=30,360-30 or 180 - 30, 180 + 30
x=30°,150°, 210°, 330°

Question 5:

Ans:

2(l —cos”x)+3cosx=3
2cos’x—3cosx+1=0
(2cosx— 1)(cosx—=1)=0
cosx=10.5 or 1

x =60, 360 - 60 or 0, 360
x =10, 60°, 300°, 360°

Question 6:
Ans:

3(1 = sin® x) = 5(1 — sin x)
Isinfx=5sinx+2=0
(3sinx—2)sinx—1)=10
sinx= 2 or |

x=41.8,180-41.8 or 90
x=41.8°90°, 138.2°
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Question 7:

Ans:

3sinx=2tanx
3sinxcosx=2sinx

sinx (3cosx—2)=0

sinx=0 or cosx= %

x=10, 180, 360 or 48.2, 360 —48.2
x=0, 48.2°, 180°, 311.8°, 360°

Question 8:

Ans:

(1 —CUSEI]—QCDSI—CDS:XZS
2cos’x+9cosx+4=0
(2cosx+ 1)(cosx+4)=0

cos x ==0.5 or —4 [no solutions]
x =180 - 60, 180 + 60

x=120°, 240°

Question 9:

Ans:

3Isin’x=8cos x

3(1 = cos” x) = 8 cos x
Jcos'x+Rcosx—3=0
(3cosx—1)cosx+3)=0

cos x= + or =3 [no solutions]

x=70.5,360-70.5
x =T0.5°, 289.5°
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Question 10:

Ans:

cos’ x=3sinx

| —sin” x=3sinx

sin“x+3sinx—1=0

—3+.f9+4

sinx = %{—3+v‘rﬁ‘jur %{—E—Jﬁ} [no sols]
x=176,180-17.6

x=17.6° 162.4°

sinx =
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